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Refraction profileRefraction profile

Geometry of reflection/refraction experiment. There are three arrivals recorded 
at greater distances: the direct wave, the reflection from the discontinuity at 
depth h and the refracted wave. 
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Refraction profile 3-layer case 
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Figure 3: Geometry of 3-layer refraction experiment. 
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Figure 3: Geometry of 3-layer refraction experiment. 
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Figure 4: Travel-time diagram for the 3-layer case
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• Determine the velocities v1 and v2
+/- from the slopes in the travel-time 

diagram.

• Use the following relations to determine α and v2:

• Read the intercept times ti
+ and ti

- from the 
travel time diagram. Determine the distances 
from the layer interface as

• You can now graphically draw the layer interface by drawing circles around 
the profile ends with the corresponding heights h+/- and tangentially 
connecting the circles at depth. 
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